Tiefenprofile Hiittnersee 2014

Kanton Zrich
Baudirektion

i] Amt fiir

Abfall, Wasser, Energie und Luft

Gewasserschutz
Temperatur [°C]
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24032014  28.042014  26.05.2014  23.06.2014  28.07.2014  25.08.2014  16.09.2014  27.10.2014  24.11.2014
Tiefe Temp Temp Temp Temp Temp Temp Temp Temp Temp
[m] [°C] [°C] [°C] [°C] [°C] [°C] [°C] [°C] [°C]
0.3 7.6 13.9 17.9 229 20.2 17.8 17.9 12.4 8.9
2.0 7.6 13.9 15.3 226 20.0 17.6 17.6 12.4 8.9
3.0 o o 7.6 12.3 14.6 19.4 18.7 17.5 17.2 12.3 8.9 o
4.0 £ £ 7.6 9.2 12.2 14.7 17.3 16.9 16.5 12.3 8.9 £
5.0 2 2 6.9 7.2 9.4 12.3 14.1 14.5 15.1 12.3 8.9 2
6.0 @ @ 6.1 6.7 8.1 9.3 10.3 11.9 11.8 12.3 8.9 ]
7.0 = = 57 6.4 7.2 8.1 9.0 9.8 9.8 122 8.9 =
8.0 e e 5.7 6.4 7.0 7.8 8.7 9.4 9.7 11.8 8.9 e
9.0 D D 5.7 6.4 6.9 7.8 8.6 9.4 9.7 10.8 8.9 D
X 4 X
10.0 5.6 6.4 6.9 7.7 8.6 9.4 9.7 10.7 8.9
11.0 5.6 6.4 6.9 7.8 8.6 9.4 9.7 10.7 8.8
12.0 5.6 6.3 6.9 7.7 8.6 9.4 9.7 10.6 8.8
Sauerstoff [mg O,/I]
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24032014  28.042014  26.05.2014  23.06.2014  28.07.2014  25.08.2014  16.09.2014  27.10.2014  24.11.2014
Tiefe 02 02 02 02 02 02 02 02 02
[m] [mg O2/1] [mg O2/1] [mg O2/1] [mg O2/1] [mg O2/1] [mg O2/1] [mg O2/1] [mg 02/1] [mg 02/1]
0.3 15.3 12.9 12.5 9.5 12.3 10.9 10.5 7.9 9.2
2.0 15.3 12.9 13.5 9.5 11.4 10.5 9.9 7.9 9.2
3.0 o o 15.3 14.4 12.3 12.7 3.0 9.0 7.0 7.7 9.2 o
4.0 £ £ 15.3 16.3 9.8 11.4 0.5 3.0 2.4 75 9.2 £
5.0 2 2 14.0 12.3 5.6 9.4 0.2 0.3 0.3 6.6 9.1 2
6.0 @ @ 13.1 9.1 49 1.5 0.2 0.2 0.3 6.3 9.1 4]
7.0 = = 127 8.5 55 26 3.0 33 54 6.1 9.1 =
8.0 e e 12.5 8.3 6.1 4.4 43 5.4 6.3 55 9.1 e
9.0 T 3 12.5 8.1 6.3 45 45 5.6 6.4 5.7 9.0 T
10.0 12.4 8.0 6.3 45 46 5.6 6.2 6.0 8.9
11.0 12.1 8.0 6.3 4.4 45 5.5 6.1 5.8 8.9
12.0 11.9 7.8 6.2 43 45 5.2 5.1 5.7 8.6
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Ammonium [mg NH,-N/I]
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24032014  28.042014  26.05.2014  23.06.2014  28.07.2014  2508.2014  16.09.2014  27.10.2014  24.11.2014
Tiefe NH4-N NH4-N NH4-N NH4-N NH4-N NH4-N NH4-N NH4-N NH4-N
[m] [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/
0.3 0.04 0.05 0.03 0.02 0.04 0.03 0.07 0.06 0.03
2.0 0.02 0.04 0.03 0.02 0.05 0.02 0.06 0.04 0.02
3.0 . . 0.03 0.03 0.03 0.02 0.06 0.02 0.05 0.05 0.02 o
4.0 = = 0.02 0.04 0.02 0.05 0.10 0.05 0.06 0.05 0.02 s
5.0 2 2 0.03 0.03 0.08 0.02 0.08 0.10 0.12 0.06 0.02 2
6.0 @ @ 0.03 0.04 0.40 0.03 0.17 0.38 0.42 0.08 0.02 4]
7.0 = = 0.07 0.29 051 0.27 0.27 0.40 0.56 0.09 0.03 =
8.0 e 2 0.08 0.35 0.57 0.38 0.17 0.40 0.57 0.11 0.02 e
9.0 D D 0.09 0.36 0.60 0.40 0.15 0.40 0.59 0.14 0.02 T
10.0 =~ =~ 0.09 0.37 0.60 0.40 0.15 0.41 0.58 0.15 0.02
11.0 0.10 0.38 0.60 0.41 0.16 0.40 0.60 0.16 0.03
12.0 0.13 0.38 0.61 0.43 0.15 0.41 0.62 0.16 0.04
Nitrit [mg NO,-N/1]
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24032014  28.04.2014  26.05.2014  23.06.2014  28.07.2014  2508.2014  16.09.2014  27.10.2014  24.11.2014
Tiefe NO2-N NO2-N NO2-N NO2-N NO2-N NO2-N NO2-N NO2-N NO2-N
[m] [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/
0.3 0.012 0.012 0.004 0.003 0.001 0.005 0.004 0.007 0.005
2.0 0.011 0.012 0.003 0.003 0.002 0.005 0.004 0.007 0.005
3.0 o o 0.011 0.012 0.003 0.003 0.003 0.005 0.019 0.007 0.005 o
4.0 < < 0.011 0.010 0.004 0.002 0.004 0.008 0.050 0.007 0.005 =
5.0 a @ 0.011 0.011 0.009 0.002 0.002 0.012 0.020 0.008 0.005 a
6.0 I I 0.011 0.010 0.017 0.022 0.001 0.003 0.010 0.008 0.030 4]
7.0 = = 0.009 0.006 0.022 0.037 0.009 0.006 0.038 0.008 0.006 =
8.0 2 2 0.011 0.007 0.025 0.010 0.005 0.008 0.012 0.009 0.005 I
9.0 e e 0.011 0.006 0.026 0.009 0.005 0.008 0.013 0.010 0.005 T
10.0 0.009 0.007 0.027 0.009 0.004 0.008 0.012 0.010 0.006
11.0 0.009 0.006 0.028 0.008 0.004 0.008 0.011 0.010 0.006
12.0 0.008 0.007 0.028 0.012 0.005 0.008 0.010 0.011 0.006
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Nitrat [mg NO5-N/I]
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24032014  28.042014  26.05.2014  23.06.2014  28.07.2014  2508.2014  16.09.2014  27.10.2014  24.11.2014
Tiefe NO3-N NO3-N NO3-N NO3-N NO3-N NO3-N NO3-N NO3-N NO3-N
[m] [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/ [mg N/
0.3 0.7 0.3 0.1 0.0 0.0 0.1 0.0 0.2 0.5
2.0 0.7 0.3 0.1 0.0 0.0 0.0 0.1 0.2 0.5
3.0 . . 0.7 0.3 0.1 0.0 0.0 0.0 0.1 0.2 0.5 o
4.0 = = 0.8 0.4 0.1 0.0 0.0 0.1 0.1 0.2 0.5 s
5.0 2 2 0.7 0.4 0.3 0.0 0.0 0.1 0.0 0.3 0.5 2
6.0 @ @ 0.8 05 0.5 0.2 0.0 0.0 0.0 0.3 0.5 4]
7.0 = = 0.9 07 05 0.4 04 01 05 03 05 =
8.0 e 2 0.9 0.7 0.6 0.6 0.7 05 05 0.4 05 e
9.0 D D 0.9 0.7 0.6 0.6 0.8 0.6 0.5 0.7 0.5 T
10.0 =~ =~ 0.9 07 0.6 0.6 038 06 06 0.9 05
11.0 0.9 0.7 0.6 0.6 0.8 0.6 0.6 0.9 0.5
12.0 0.9 0.7 0.6 0.7 0.8 0.6 0.5 0.9 0.5
Phosphat [mg PO,-P/I]
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24032014  28.042014  26.05.2014  23.06.2014  28.07.2014  2508.2014  16.09.2014  27.10.2014  24.11.2014
Tiefe PO4-P PO4-P PO4-P PO4-P PO4-P PO4-P PO4-P PO4-P PO4-P
[m] [mg P/] [mg P/] [mg P/l] [mg P/I] [mg P/] [mg P/] [mg P/] [mg P/I] [mg P/I]
0.3 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.003 0.009
2.0 0.003 0.003 0.002 0.002 0.003 0.003 0.012 0.002 0.002
3.0 o o 0.004 0.002 0.002 0.001 0.003 0.002 0.009 0.002 0.005 o
4.0 S < 0.003 0.003 0.002 0.001 0.003 0.002 0.005 0.002 0.001 =
5.0 2 2 0.003 0.003 0.002 0.001 0.003 0.004 0.003 0.003 0.002 a
6.0 @ @ 0.004 0.002 0.002 0.001 0.003 0.002 0.002 0.003 0.006 4]
7.0 = = 0.004 0.002 0.003 0.001 0.003 0.001 0.004 0.003 0.007 =
8.0 2 2 0.003 0.002 0.003 0.002 0.003 0.004 0.002 0.005 0.005 I
9.0 e T 0.004 0.002 0.003 0.002 0.003 0.003 0.010 0.007 0.009 T
10.0 0.003 0.002 0.002 0.002 0.002 0.004 0.016 0.006 0.004
11.0 0.003 0.001 0.002 0.002 0.004 0.007 0.005 0.010 0.004
12.0 0.003 0.002 0.002 0.003 0.005 0.005 0.004 0.008 0.003
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Geloster Phosphor [mg P/I]
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Tiefe P-gel P-gel P-gel P-gel P-gel P-gel P-gel P-gel P-gel
[m] [mg P/] [mg P/] [mg P/] [mg P/] [mg P/] [mg P/] [mg P/] [mg P/1] [mg P/1]
0.3 0.003 0.001 0.005 0.004 0.001 0.007 0.034 0.003 0.007
2.0 0.002 0.002 0.006 0.002 0.004 0.016 0.031 0.008 0.001
3.0 o> o 0.004 0.000 0.006 0.000 0.011 0.008 0.011 0.011 0.000 o
4.0 % % 0.006 0.009 0.008 0.002 0.000 0.010 0.008 0.010 0.000 g
5.0 & & 0.004 0.000 0.009 0.021 0.005 0.010 0.011 0.009 0.003 &
6.0 [} [} 0.000 0.001 0.014 0.016 0.005 0.005 0.005 0.005 0.003 [J]
7.0 = = 0.003 0.002 0.008 0.003 0.003 0.004 0.008 0.008 0.003 =
8.0 e 2 0.003 0.003 0.008 0.000 0.002 0.009 0.006 0.008 0.004 e
9.0 ‘° k) 0.002 0.004 0.011 0.004 0.003 0.007 0.007 0.010 0.001 E
10.0 = = 0.008 0.003 0.010 0.002 0.003 0.009 0.005 0.010 0.002
11.0 0.003 0.000 0.010 0.004 0.003 0.009 0.039 0.017 0.005
12.0 0.004 0.003 0.005 0.009 0.007 0.007 0.013 0.011 0.010
Gesamt-Phosphor [mg P/I]
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03 03 03 03 03 03 03 03 03 03 0.3
2 2 2 2 2 2 2 2 2 2 2
3 3 3 3 3 3 3 3 3 3 3
4 4 4 4 4 4 4 4 4 4 4
5| O 5| [ 5 5 5 5 5 5 5 5 5 ol
c c =
—_ = > >
E 6| @ 6| @ 6 6 6 6 6 6 6 6 6 0
> 7] 7] 73
Q@ ] ] K
L 7B 7| B 7 7 7 7 7 7 7 7 7 =
=
) ) o
8| S 8| S 8 8 8 8 8 8 8 8 8 c
(9] (] >
I I v
9 9 9 9 9 9 9 9 9 9 9
10 10 10 10 10 10 10 10 10 10 10
11 11 11 11 11 11 11 11 11 1 11
12 12 12 12 12 12 12 12 12 12 12
NY oo NYo®wd ONYO®RY ONT©OR ONYO®RHd ONTORD ONY®O® ONYO®RH ONTORd ONTO®d ONY©®c NY oo
22389 22389 22389 S222 S238¢ 22389 S222 22389 223829 223829 S2389 ss33°
24.03.2014 28.04.2014 26.05.2014 23.06.2014 28.07.2014 25.08.2014 16.09.2014 27.10.2014 24.11.2014
Tiefe P-tot P-tot P-tot P-tot P-tot P-tot P-tot P-tot P-tot
[m] [mg P/] [mg P/] [mg P/l] [mg P/I] [mg P/] [mg P/] [mg P/] [mg P/I] [mg P/I]
0.3 0.027 0.020 0.030 0.019 0.016 0.026 0.058 0.041 0.030
2.0 0.027 0.025 0.035 0.020 0.037 0.038 0.052 0.041 0.029
3.0 o o 0.027 0.019 0.036 0.024 0.034 0.035 0.045 0.039 0.028 o
4.0 g g 0.028 0.033 0.036 0.031 0.029 0.032 0.040 0.036 0.023 g
5.0 g g 0.029 0.025 0.047 0.070 0.044 0.035 0.046 0.030 0.029 %
6.0 [) [) 0.027 0.041 0.061 0.093 0.045 0.033 0.035 0.024 0.042 [}
7.0 = = 0.027 0.041 0.051 0.052 0.036 0.034 0.037 0.024 0.030 =
8.0 ?:) ?:’ 0.032 0.041 0.051 0.046 0.029 0.057 0.034 0.027 0.035 2
9.0 _d:) _G:) 0.032 0.043 0.054 0.049 0.033 0.057 0.036 0.028 0.032 E
10.0 0.037 0.043 0.055 0.048 0.033 0.061 0.035 0.033 0.021
11.0 0.035 0.041 0.054 0.049 0.035 0.058 0.069 0.040 0.030
12.0 0.046 0.045 0.056 0.062 0.037 0.057 0.047 0.034 0.042
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